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QUESTION 1
A customer has a branch location with the following requirements:

24 H.323 Endpoints 30 SIP Endpoints 1 DS-1 for PSTN trunking 15 Analog Ports Survivability for all endpoints in event
of WAN fail

What is the least cost gateway solution that meets all of these requirements?
A. G450 Media Gateway with S8300

B. G450 Media Gateway

C. G430 Media Gateway

D. G430 Media Gateway with S8300

Correct Answer: C

QUESTION 2

What is a benefit of Session Manager?

A. It centralizes the management of remote gateways.

B. It provides SIP application interoperability across multi-vendor equipment.
C. It provides traditional analog trunking to the edge devices.

D. It de-centralizes management of phones and users enterprise-wide.

Correct Answer: A

QUESTION 3

Your customer is asking about the Multiple Appearance Directory Number (MADN) feature that has been added in
support of CS1000 migrations. It includes Single Call Appearance/Arrangement (SCA) which works like Communication
Manager bridging, and multiple Call Appearance/Arrange (MCA) which works like bridging on the CS1000.

Which statement about MCA is true?

A. Itis only available on Avaya Equinoxclients.

B. It is only available on Device Adapted sets.

C. Iltis tied to a particular call appearance on the primary endpoint.

D. It makes all calls private.
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Correct Answer: D

QUESTION 4

One of the requirements of a proposal you are working on, is the ability to query an Active Directory database for
contact Information from the customer\\'s Avaya 96XX SIP Phones.

To support this functionality, which component must be included in your solution?
A. Avaya Aura Devices Services

B. Communication Manager

C. ADHCP server

D. System Manager

Correct Answer: D

QUESTION 5

A customer is interested in deploying geo-redundant System Managers. Which two requirements would they need to
know? (Choose two.)

A. Both servers must be on the same IP subnet.

B. The two servers must have the same version of software,
C. The two servers can reach each other on the network.

D. Both servers must have the same IP address.

Correct Answer: A
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